\/

})4

5.

' N N N
1 n the give ﬁgu’("‘ if L] L2, then the values
z !bSpeCti\/(\[y are

, of 1

~x. v

(A) 98°, 36°,98° (B) 98°, 98°, 36°

(2+3)n

= e
(A) 7+4V3 (B) 853
7~4v/§ E
(C) 57 (D) 194

If A takes 4/5 days as B takes and working
together they require 20/3 days to complete
the whole work. What is the efficiency of B?

130-D V¥

L

[Py 9ge, 36°, 98°~

EIn
W
7-44/3

. (C) 57
@uﬁrA Ba%wﬁzt/sﬁﬂawg IR

62/

(B) 98° 98° 236°
C) 36° o o D ° ° ° o] 36
( 3 ’ 98 ’ 36 ( ) 36 , 36 ’ 98 ) 360, 980, 360 (D) 36" '4151" ”2’
2. The sum Qf three numbers is 98. If the ratio - AT BT AT 98 7 | Afe uzs i: S
between first and second be 2:3 and between @ & .
second and third be 5:8, then the second BT A 23 B AR GO A A
number is - @& 4= 5:8 B 1 T e
(A) 58 (B) 48 (A) 58 BT S
(C) 30 (D) 20 (C) 30 (D) 20
3. Abhinav leaves Mumbai at 6 am and reaches 3. ofta gaE 6 I Has A ﬁ?r—m- 3
Bangalore at 10 am. Praveen leaves Bangalore 10 991 AR UgAAT @ | @ 8 T
4t 8 am and reaches Mumbai at 11:30 am. At TTAR ¥ Fpaar @ IR 1130 99 553 m===
what time do they cross each other? 21 9 fog 993 @ B TR Er_“
(A) 10 am (B) 8:32 am (A) g 10 9o (B) &g 832 o=
(C) 8:56 am (D) 9:20 am (C) gaE 8:56 a4 9:20 T
fx=7+ 4+/3 and xy = 1, then the value of 4.

afe x=7+4V3 MR xy=1 Fﬁ&%__ =

(B) 853

(D) 194

A BT FRA gY I R B D T T

fore 20/3 fast & & aavadd 2 2
TETdT T B

(A) glo B 25

(©) 5.55% (D) 16%
RretferRac & & @ opmey w8 E

(i) 241

(ii) 337

(iii) 391

(iv) 571

(A) dad (i) wa (i) (B (i), (i) 44 (iv) |
(C) (i), (i) T (iv) @7, (i), (i) W

(A) g1y B) 62 %

(C) 5.55% (D) 16%

Which of the following is/are prime numbers? s
(i) 241

(ii) 337

(iii) 391

(iv) 571

(A) Only (i) and (i)~ (B) (ii), (iii) and (iv)
(C) (i), (i) and (iv) (D) (i), (i), (iii) and (iv)

Page 2 of 16



7.

10.

11.

12.

13.

14.

A2 )

Find the greatest number which on dividing 7. qp udad Gl """',' z":;"l ’,}l/l,\,,’;,‘ y,,){ ]')‘q'/'w /”‘
152,277 and 427 leaves equal remainder. e 427 1T o (B) 65
(A) 45 (B) 65 (A) 45 ;
(©) 35 P (©) 35 r/(p’::'?( o
What annual payment will discharge a debt of % gfr ad ¢ 05 I,{' |
X580ins years, the rate being 8% p.a.? 1 T fepey atfien 4 |
(A) 80 (8) 120 (A) 80 (8) 120
(© 100 ©) 78 (©) 100 R
The diameters of two concentric circles are 8 9. gy wabf-ad Eﬁ-ﬁ @ o 8 fﬂ: f -
c¢m and 10 cm. The area of the region between = SEEAEIR & & Dbl BAP T -
them is - (A) 37 T2 (B) qr 1412
(A) 31 cm? (B) 1 cm? W 2 (D) 6 A1
(€) 91t cm? (D) 67 cm? . N
A bag contains one-rupee, 50 paise and 25 _1o. g # v vl S0 ¥ T 25 —'r }
paise coins and the ratio of their value is Ryap 2, 37 AT DT T 30 :\ L4 :\7 -
30 :11: 7, and the total number of coins are faaept @1 Gl e 480 B | 25 Ry arel Ryt
480. The number of 25 paise coins are - P =T —
(A) 168 (B) 132 3 168 (B) 132
(C) 212 (D) 160 ~—(C) 212 (D) 160
The ratio of ages of Krishna and Balram is 3:4. a o7 R FERM DY ATG BT I 3:4 S
Four years earlier, the ratio was 5:7. Find the Tl U8, I8 JUTd 5:7 AT| ™I 3R R
present ages of Krishna and Balram. P gaaT IEESIN W |
(A} 24 years, 32 years (B) 32 years, 24 years Mﬂfﬁ (B) 329Y 244aY¥

(€) 15 a4, 20 a9 (D) 16 @Y, 20 a9

(C) 15 years, 20 years (D) 16 years, 20 years
12. gfg &a f&f M= &1 w@d | o BN AR

IO B D [shH D T W AT S, al

If we multiply a fraction by itself and divide the
product by the square of its reciprocal, the

. : . 13 .
fraction so obtained is 3-;1. The original T e 3;_iml ay Tl e
fraction is - “auk
(A) ¢ (B) 16 (A) 8 (B2 &

9 9 ' 9 9
€)1 (D) 2 €)1 (D) ¢

3 3 3 3.

If o, B are roots of x — ax + b = 0 and Uflc{xz—ax+b:02%11‘a a, B B 3R

Vo = a" + 3", then v+ 1 is equal to - Vo= 0"+ B @ vy OXTER

(A) bv, +av n1 (B) bvn—av (A) by, + av ;4 (B) bv, - av

(C) avn + bv s | (D) av, - bv 14 (C) avy + bv 4 (D) av, - bv 4

If one diagonal of a rhombus is equal to its side, 14. ofa maads] BT Uk B -

thgn the gdiagonals of the rhom(z)us are in the ?ﬁﬁw@g?%g}g@ﬁ% E?;ﬁ\gﬁ it
ratio - g —

(A) v3:1 (B) 3:1 (A) V3:1 (B) 3:1

(C) 2.1 (D) v2:1 | (C) 21 ‘/.2_ |

. ”~

nnmn™ W



ad

ar is 400% greater than the cost / é Uh BR B BYAA U digdh 41 drae o 400%

;5. The cost ofac
ease in the cost of S X1 AR B A BT A 159 e are
~7 ;

of a bike. If there is an I:Cbrk ot themth
by 15% and that 0 ike is 20%, then the ; o o
:hteafai;c:aaseonn the cost of the 5 cars and 10 @ ﬁﬂa q 20% @ fif"x Bl 2, 1 5 By oy
ikes i - 10 15T & orTd § aet gfs
(A) 18.5% ®) 162 % (A) 18.5% (BT 16 o0
(C) 17.5% (D) 18.25% M (D) 18.25%
16. Match the following columns — 16. W B Wﬁ o —
Column-I Column-Ii ]
(a) Soapsuds (i) Emulsion (a) mga ‘dﬂ o At FE (i) 9TFF
(b) Silt in water (i) Foam DEGKEIE (ii) BT
(c) Opal . (lll) Sol E (C) Gﬁw (@Iﬂ q—(QTK") (iii) ‘\Eﬁ'??{
(d) Mayonnaise (iv) Gel - (d) A (iv) ST
Code - a,—g —

(A) (a)-(iii), (b)-(iv), (c)-(ii), (d)-(1)
(B) (a)-(iv), (b)-(ii), (c)-(iii), (d)-(i)
(C) (a)-(ii), (b)-(iii), (c)-(iv), (d)-(i)

ADAT-(i), (b)-(ii), (c)-(iii), (d)-(v)

17. fgmﬁfﬁaa ¥ ¥ P 91 e gkadd TE
!
(A) ol BT THAT (B) HIf9 &1 9r@
qrl @1 ST (D) &1 BT Bl

(A) (a)-(iii), (b)-(iv), (c)-(ii), (d)-(i)
(B) (a)-(iv), (b)-(ii), (c)-(iii), (d)-(i)
(C) (a)-(ii), (b)-(iii), (c)-(iv), (d)-(i)
(D) (a)-(i), (b)-(ii), (c)-{iii), (d)-(iv)
17. Which of the following is not a chemical
change?
(A) Ripening of fruits  (B) Digestion of food

(C) Freezing of water (D) Curdling of milk
18. The word ‘Vaccination” has been derived from 18. JRNNTH’ oee UH olfed g & forar 7 =

a Latin word, which relates to - RTadT 999 & —
(A) cat (B) cow (A) il (B) T A
(C) horse (D) dog L/tt)/ggﬁ kil (D) T 3

1304047978 1304047975

o0
19. Yeast is an important source of-' S—) 19. fRe et Fewaqol SEIa &7
(A) Vitamin C (B) Protein [ (A) faerfa= ¢ Mﬁ?{
(C) vitamin B (D) Vitamin D g (C) faerfa= 8 (D) Rerf= D
" 20. To an observer on lunar surface, during day «F 20- 9% Wa8 R U Gdderd & o7 & 997 A&
time sky will appear to be - () feegrg < —
(A) Orange (B) Light yellow @ (A) 9= (B) goh] UYaT
(C) Blue (D) Black (C) rem m
21. Which of the following statements is/are - 21 @61 & wuy H f=fafad & @ o9 @ @
correct regarding fats? [ PO W /7
ded i ‘ :
(1) ;aet;g:znréée ed for the formation of cell 92 () PR Rieehl @& Pt @ R T @
(1) Fats help the body to absorb calcium from g Sraeapa B 2 |
food. G (1) T IR @ IS A Dy B saenfyd
(Ill) Fats are required to repair damaged O I A S W gl
Hissues. P () &fuRd Sadl B s @ fore aar
(IV) Body cannot release energy in fats as ¥ ATIRTHAT 81T 2 |
quickly as the energy In carbohydrates. (IV) IRR aar 7 IaH asht Q4 ot 981 o1
Select the correct answer Using the code qhdT a1 @Y drafeese § Sof |
given - WWWWWWWWE\{%Q_
(A) Only (1) (8) (1) and (V) ‘A) ad (B) (111) 3% (1)
(©) (1) and (IV) ®) (I and('v) - (OMTIIR (1v) © () SR (v)
tean W Page 4 of 16 -



22. Match the following columns -
Column—I
(a) John Dalton
(b) Antoine Lavoisier
(c) Richter
(d) Gay-Lussac
Column—II.
(i) Law of Conservation of Mass
(ii) Law of Reciprocal Proportions
(iii) Law of Gaseous Volume
(iv) Law of Multiple Proportions
Code -
(A) a-(iv), b-(i), c-(ii), d-(iii)
(B) a-(iii), b-(iv), c-(ii), d-(i)
(€) a-(i), b-(ii), c-(iii), d-(iv)
(D) a-(ii), b-(iii), c-(iv), d-(i)
Flight of rockets and jet planes is practical
application of the principle of -
(A) conservation of mass
(B) conservation of linear momentum
(C) conservation of energy
(D) conservation of force

1304047978

23.

1304047978

24. Dimensional formula of surface tension is -

(A) [ML2TO] (B) [MIL'T?]

(€) (MILITY (D) [M1LOT-2]

Which one of the following statements is not=—

correct?

(A) The mass numbers of atoms of an element &2
may be different.

(B) The number of protons in all atoms of anl™
element is same.

(C) The mass numbers of atoms of differentg
elements may be same. P

(D) The number of neutrons in all atoms of an™
element is always same.

2. \Which instrument is used to measure number
of revolutions per minute of the aircraft
engine?

304047978

25.

04

97

22. fap=rfaafeac aidl &l H‘Tf?“‘ﬂ HfT —
Pt
(a) STfT STec
(b) GeTl dAarfsrr

(i) oMM @ HRET DT =

(i) TREAR® ot @1 I

(jii) T A DT foem

(iv) 98 a1 fFaH

E}Z\_C" —_

(A) a-(iv), b-(i), c-(ii), d-(iii)

(B) a-(iii), b-(iv), c-(ii), d-(i)

a-(i), b-(ii), c-(iii), d-(iv)

(D) a-(ii), b-(iii), c-(iv), d-(i) _
23. ¥fae sk o @i @ SeF fhad fAEd o

g ST 87

[(A)/azzﬁr )

(B) IRgep Ty BT ARETOT @

(C) HoIT BT HRETT

(D) ST T HRET0T |
24. g g &1 N g B -

(A) [ML2TO] (B) [MILIT?)

(C) [MILITY) B) A TdT2]

bl 0@ & o wRETORT W gl @)
=T 99 Bl § |
A B Ahd) ¢ | ’
(D)ﬁwﬁaaa%wﬁqwngsﬁﬁam'aﬁ
AT Fod FHE 8RfY | -
26. :
W??Waﬁwﬁfﬁaewﬁwmqﬁm
99 P
i %Q%amammn@,—mm

(A) tachometer (B) tachymeter (A) ¥ppfres (B) diyey
(C) telemeter (D) polarimeter 40y TToiey (D) treRees
2. \Whi S £ 27 : :
ch of the following is a good conductor o Frferfiga W A B S P
heat but a bad conductor of electricity? Afba frera 1 aerers - BT ATete; H
(A) Copper (B) Mica (A) ige o
old (D) Ebonite (C) Moe (D) w:n_s?
130-67777‘_" - Page 5 of 1g —



ey

he following is a heterogeneous 8.
e

/}).]1.”,,1\‘4[«] T 9 & us [’]'“ﬂ'ﬁ fry
T

(A) Solution @ (A faerr=

(B) Suspension

28. which of

27

N
mixture:

(B) fycig=
(C) Both solution and suspension (C) faerr ol Rrciaa e
(D) Neither solution nor Suspension MW 3R A1 A Feiay
2 winichof e OlOWINg s not avector quantity? 29, fafferm # 4 @ @ i e ot o)
(A) Acceleration (B) Torque (A) =R0T (B) o

(C) Resistance (D) Impulse (C) yfoRwr m

30. af w0 SR BT 2 R Ay
the mirror is moved ﬁ?aaﬁwagiﬁwm%ﬂ#ﬁw
away from the face, thenthe miorisa ... * 4o B ¥ |

m|rror ......................

(A)

el B
concave (B) convex W o

(D) HY 39 3
(€) plane (D) Both convex and W

plane
3. Which  policy was approved to develop @ ORI B fhen SReTem & vy [GEat

Rajasthan as a film destination? B B 0 Ny @ O Y E?

(A) Rajasthan Fi| [ icy — .
201225 an Film Travel Promotllon Policy ""(‘KT-/{’JH e daat Treaes S - 202

(B) Rajasthan Film -Exploration  Promotion (B) ST fbewt sy TreqTEd iy — 2022
Policy - 2022

(€) Rajasthan Film Tourism Promotion Policy — (C) oo e yefe UreaTE Ay — 2022
2022 ’ .

(D) Rajasthan Film Screening Promotion Policy (0) Rrorer b s T SieTeT -
-2022 2022

32, Which institute organized the

'Charcoal
Painting Art Exhibition'? '

32. IRDN R Gl TR w7 s R

VR ERT b T
(A) Rajasthan Lalit Kala Akademi, Jaipur (A) IRy AT T HBTH, TR
(B) Rajasthan School of Arts, Jaipur (B) IToter IhH I SRR
(C) Western Region Cultural Centre, Udaipur (C) a3 RIEFANGS BT, IR
(D) Rajasthan Sahitya Academy, Udaipur SIS e srpredy IR

3. Indian women's cricket team captain Mithali 33, wedey wfeerr fyase B FAA e T
Raj announced her retirement from all forms of q SRR frae o T et ¥ T @
international cricket in - Yo &) —

(A) August 2022 (B) June 2022 (A) 31Tt 2022 Clﬂffigzgzz H
(€) April 2022 (D) July 2022 (C) ardier 2027 (D) Se¢ 2022 &

34. How many properties have been issued @3@38 2022 T® IToRey W & P gufer
heritage certificates in Rajasthan till April B 2R SIS SR Ry @
20227
(A) 151 (B) 230 (AL15) (B) 230
(C) 143 (D) 187 (€) 143 (D) 187

i30-D V ' Page 6 of 16
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36.

37.

38.

39.

40.

41,

42,

Recently (M3

N
. o ' |
022 ich distri | Bk
Ministe, hae approv)e:t\:/]hlch district the Chijef @ Dtﬁ i (g 20~22)\ ﬁfﬁﬂgsg 1A :
B e € Proposal to Open 3 3 9 aweiier wer
A 27
(A) Chury (B) Jaisalmer (A)
(C) Banswara Jodhpyr (C) ki 5
EINCIS]]
Who released the book 'Locust Control jp 3. e #
Rajasthan'» ey feparr?
(A) Murari Lal Meen, (B) Ramlal jat
(€) Ashok Gehlot

PProved the Wm%ﬁ@ﬁ#mw

UTg BT
: \ 'S of RIPS-2019 ¢, Rural R4-2019 & @ Ry o & N
Tourism Units. Full form of the RiIps Scheme far 2| Reg Ao 37 qof ¥9 & —
is - ARG
=T 1 gIAE e AT :
(A) Rajasthan Insurance Promotion Scheme - TR & s @
(B) Rajasthan Instaliment Providing Scheme (B) wroreern faree
(C) Rajasthan Inspection Proposal Scheme (C) IoRem ffeTor Y=g Aoy
(D) Rajasthan Investment Promotion Scheme (D) TSR et UIATE AT r
What. is the rank of Rajasthan in the Jist 38, Ay 2022 ¥ RT WRER gRT S I
released by the Government of India on 'Utsay W S L H TRy Cagcac it LR IE R
Portal'in July 2022? 2?
(A) Third ® Fifn A e (B) e
(C) First (D) Second (C) gorg . (D) 2
Rajasthan Domestic Travel Mart (RDTM) was 39. IroRerg ka1 Reore ST 7S (@R'@[ﬁ@) 2l
Organized in which district of Rajasthan? SIS TSR o & Ry 3 TaT?
(A) Udaipur (B) Chittorgarh (A) 33213? (B) [éﬁlg‘ e
(C) Bhilwara (D) Jaipur (©) Hrerarey
Rajasthan Government signed a Memorandg 0. )3TeTers Wﬂv‘l‘\f =5 S — WER = ﬁfﬁ
of Understanding (Mou) with B W Aferaly &RT |aATfera wgay IF
................................. Government Stree Nld_hl, T S S (Weﬂﬁq\) R TR
to set up the first all women-run cooperative frg | _
bank. : | ‘
: (B) e
(A) Kerala (B) Bangalore c .
(C) Tamilnadu (D) Telangana . () E”i'a‘“@; | (D) Ay
According to the 20™ livestock census of NIRRT g 204 .q‘{ITTUmT ® SMRIN NEISEY
Rajasthan, which district has maximum RNCERT Ry ¥ 20
livestock? (A) 7% B
(A) Barmer (B) Nagaur (C) gh‘cﬁﬁ‘\’ A;L:ﬁaﬁ-\,
hpur (D) \‘rﬁtl'g‘\’
(©) Bikaner (D) Jodhpu 42
. RIS qH f\gﬁq .
Select the wrong pair - o
(A) Dalpat — Khuman Raso . - ® R C G A
(B) Dwarkanath Bhatt — Raag Chandrika L,/J’%ﬁ“f/ﬁ‘u HE — EHEV
(©) Vijaydan Detha — Aasha ghar C/(Cr—\’ﬂl“cﬂ:f [x5)
() Kumbha — Sangeet Raj

o T — it gy
— .  page7of1g T
130-p ¥



3. How many

indigenous languages are

mentioned in Kuvalayamala?
(A) 12 (B) 0g
(C) 18 (D) og

44. ' Ceénsus 2011 the districts in
Rajasthan with Population, less than one million
was - -
(A) Only Jai er

(B) Sirohi, Bundi
(D) Jaisalmer,

& Pratapgarh
Match the fel?owing (Mahal - Place) -
(a) Mubarak Mahal

45,

(1) Dungarpur
(b) Sunehri Kothi (2) Tonk
(c) Reshma hal (3) Sikar
(d) Ek Tharribiya Mahal (4) Jaipur
Choose theﬁ%rect code -

(A) a-(1), b-42), ¢-(3), d-(4)

(B) a-(4), b-@ c-(2), d-(1)
(©) a (1), 4@, c-(2), d-(3)

©)a-4), 648 c.3), g-(1)
Who is the author of

e

46. ‘Marwar Ra Pargana Ri

D

43. gaemren A foell < AL )

& (B) 06 |
(A) 12 D07
(C) 18 N -

44 2011 & TR, bR T
P 4 g o a4
() B SR B) R,
(C) el YATITE HelTyer

45. fyefaRad &1 e W (W )
. e (1) g
) e )
(c) m Hedl 77//(3) m?
(d) v AufeaT HEe — (4) ST
R & BT g4I ?ﬁﬁ‘m -
(A) a(1), b-(2), ¢(3), d-(4)
®) 2-(4), b-(3), (2, d-(1)
©) a-(1), be(a), c(2), d-(3)
a-(4), b-(2), c-(3), d-(1)

46 HRaTS 1 R oy B GG §
Vigat’?
(A) Surat Mighra (B) Muhnot Nainsi (A) ¥ fiysy %ﬂﬁﬂ o)
(€) Navin kavi (D) Narharidas ©) 597 =fy (D) ReRem
47. Pansari Havaliis situated in - AL RN el fRer 2
(A) Dundlo (B) Shri Madhopur (A) Seeire 3 (B) s AR
€) Tonk < (D) Chirawa © Fy () % 3
48. Dhati, 3 sugaialect of Marwari, is spoken in 48 T, TRATE ) T S0 3
which region-ef Rajasth?g)? h SERY ey T VTR
(A) Sikar Pratapgar (A) e ®)
(C) Bundi o0 (D) Barmer (©) g& 2
49. sy Temple(y;)halawar is also known as - 49 AT 3 w e - -
(A) CharmLﬁhTemple ST ey
(B) Saat Sak@fyon ka Mandir %:/aﬁm iy
(©) Saas BafmpTemple | © e T a1
(D) Temple SPKunwari Kanya and Rasiya )~ 98 “Tﬁﬁ\
= i 50 e TR e g
- Who has constructed Naulakha Baori in TRR Reg Pe FE
e T e
Dungarpur? _ , A _
(A) Rani Primal Devi ~ (B) Rani Durga Devi , (C) i o (B) ¥y gt <l
(C) Rani Padmini (D) Rani Champa Devi B Il (D) Ty =y <l
. Sy o
31 The ornament Tadda’ is worn . (A?; GW TET Sy
(A) around waist (B} on foreheak (8) Wﬁ? ﬁ ®) frR w
(C) inarms ~ (D) around nec B A (D) o #
'—T - Page 8 of 16 I
130-D
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52. Rajasthan State Environment
declared firstly in the year -

Poliéy was

(A) 2012 (B) 2008
(C) 2010 (D) 2006

53. Which is not traditional source of energy in
Rajasthan?

(A) Solar energy “(B) Atomic energy

(C) Hydroelectric (D) Thermal energy
energy

54. Which one of the following pair (Princely State
— Political Agent), at the time of outbreak of
Revolt of 1857, is incorrect? |
(A) Jaipur — Colonel Eden
(B) Bikaner — Captain J.D. Hall
(C) Jodhpur — Mac Mason
(D) Udaipur —C. L. Showers

55. |n which area was Lachhiram known?
(A) Hela Khyal (B) Kuchamani Khyal
(C) Turra Kalangi Khyal (D) Shekhawati Khyal

56. Between which states was the Treaty of
Champaner signed (1456 AD)?

(A) Malwa — Mewar  (B) Malwa — Gujarat

(C) Mewar — Marwar (D) Mewar — Gujarat
57. Which one of the following is not a Water Fort?
(A) Koshavardhan Fort (B) Bhainsrorgarh Fort

(C) Bhatner Fort (D) Gagron Fort

58. Pplace of Jodhpur, famous place for Chhatris and
gardens of ancient kings is -
(A) Mandore (B) Osian
(C) Jaswant Thada (D) Luni
59. Uniara painting style is a blend of which styles
of painting?
(A) Jaipur and Bundi style
(B) Alwar and Kota style
(C) Kota and Amer style
(D) Bikaner and Amer style

Page 9 of 16 —_

(A) 2012
(€) 2010 (D) 2006

T8l
ss.wwﬁﬁwmmwmm

27 | ‘
(A) R ol By Sl

54, 1957 A wifa @ @ (@R N
cffefeaes ) T P I, S &

(B g — de oL 4 E EE

1304047978

o @)
P
_ ®))
A) (B) A=l TATA ';F
(C)gﬁwﬁ@ra (D) IrgTaTe! A %3
56. awﬁqa%v’m(mssAo)ﬁ»—rfvr—a‘fa%eﬁagzg
A o
(A) ATerar — HaTg  ~ (B) S/l — T[ORT O,E
(©) #T$ — ARATE (D) HaTS — TORTA IOQ
3. frafafad % & B\ @1 ota g T8 20 g
(A) Drerags i (B) M¥RTeTTE I g
™
CLFeR i (D) TPRIE g3 o
% SR F7 <o, o waRat ik wEE <o
$m$mm§~ 0
(A) HeR (B) 3Ny ™
59%@@2@ (D) o R
' R 9, framear @ £ X
BT fsgor 22 ﬁﬁwmg
o« BSTRSIR g ol g,;,:
®) sierav oy rer e -

(C) cb‘}a 3ﬁ7<’ &ﬂ'ﬁ'\’ M
©) dore sie s e



The District collector is a member of which

service?

(A) Indian Administrative Service

(B) State civil Service

(©) Indian Police Service

(D) Indian Revenue Service

Who was elected for Rajya Sabha for maximum

four times from Rajasthan?

(A) Gyan Prakash
Pilania

(C) Ashok Gehlot

(B) Ram Niwas Mirdha

(D) Girija Vyas

Sei Project’ is related to which of th

e following
dams?

(A) Harike Dam (B) Gandhisagar Dam
(D) Jawai Dam
Who was the ruler of Dungarpur during the

revolution of 1857, who helped the British?
(A) Fateh Singh

(©) Jaswant Singh 11

(C) Jawahar Sagar Dam
63

(B) Vijay Singh
(D) Udai Singh 11
In Rajasthan, the festival and fair of

Kajli Teej of
........... is famous.
(A) Pushkar (B) Bundi
(C) Banswara (D) Baran
55. The main peeth of Naval Sect is in -
(A) Jodhpur (B) sabla
(€) Shahpura (D) Ren

What is the main function
Mathur Rajasthan
Administration?

(A) Training

of Harish Chandra
Institute  of Public

(B) Social
Development
(C) Recruitment (D) Census
67. ‘Kamadiya Panth’ was established by -
(A) Mallinath ji (B) Pabu jj
(C) Ramdev ji (D) Goga ji

68

Which of the following districts has the largest

area of forest?

(A) Sirohi (B) udaipur g
(C) Alwar (D) Pratapgarh

— @
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(C) SaTer WIR (D)7t g

63. 1857@%?%%@%?
N, fS St Y ww'rrar 9 oo

(A) BoE Riz (B) fasrg Rz
AC) sRrdT Riw (D) Sz e |
64. I A DT BT S F7 =iz -
ol g ¥ |
(A) qepy
—\C) SraareT (D) g7=7

q Wﬁg@tﬁa%ﬁé—
(A) S 4
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(A) RRYE }}6@1}
(©) 3rerar (D) garqre



Which of the following serial of mountain
peaks is correct as per descending order of
their heights?

(A) Nag Pahar, Bhairach, Babai and Bairath
(B) Babai, Bairath, Nag Pahar and Bhairach

(C) Bhairach, Nag Pahar, Babai and Bairath

(D) Bairath, Nag Pahar, Babai and Bhairach

70. Bhim ki Dungari and Bijak ki Pahari are the sites
related to which civilization of Rajasthan?
(A) Ganeshwar (B) Kalibanga
civilization civilization
(C) Bairath civilization (D) Ahar civilization
71. Which of the following statement is incorrect?
(A) Aravalliis the oldest mountain range.
(B) Western Sandy Plain is the residual of
Tethys Ocean. ,
(C) South — Eastern plateau is the extension of
Gondwana Land.
(D) North - Eastern plain was formed by
Sindhu River.
72. \Who attacked Chittorgarh during the ‘Second
Sakaa’?
(A) Firoz Shah Tuglak (B) Akbar
(C) Bahadur Shah (D) Alauddin Khilji
73. North — South corridor passes from which
district of Rajasthan?
(A) Sawai Madhopur  (B) Dausa
(C) Jaipur (D) Dholpur
74. \Which was the capital of Harishchandra, the
founder of Pratihar dypasty in Rajasthan?
(A) Mandana (B) Bhinmal
(C) Mandore (D) Merta
75. Which of the following pairs of districts is major
producer of Kattha (Acacia Catechu)?
(A) Churu — Bikaner  (B) Banswara — Baran
(C) Udaipur - (D) Bharatpur — Alwar
Chittorgarh
2 W

69. ﬁ";f%ﬁgﬁ e _\’T Eap ‘”[ by udq rﬂf":n uq

/mﬁwmaémam

(B) §Tds, RT3, ANT Ugle 3 4vd
(C) ¥R=, AT UBTS, d1ds 2R 30
(D) RT3, AT UETS, 198 3R 437

70 Hg N G 0d QB A TRTE TR A

g el e were €7
(A) TOTEGR T (B) HTeiTaTT Fal

(C) a7 |l DyTES R

7. frfafad § Q@ ®IF G HUF TAd 87
(A) sRTae |aY qRHT el € |

(B) uf¥er® e Ae <fIm WERR @

AT 2 |

(€) TfRi-udi yerR Misamr 4 F1 w2 |
A4 gR1 STR-qdl Her @1 FET

ﬁv—mwuﬂ

72. g w@er B gug fRieTe WX GEn

3msHHoT e orr?

&) TR e (B) e

(C) gBTqR wIE wflﬁ?ﬁ Rererelt

73 IR R wroRerE @ fr B @

TORAT 87

(D) HEd]

Mferfeaa & @ forel @1 @1 W
(QT% HeRqT) BT YHE IUTSH &8 :%‘
(A) g% — ™R BrEIE — qRi

(€) IeUR — fadree (D) WRAR — 37T

75.
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B AT DT IHE e
76. g @l G fari] R
6. Hakim Khan Suri was the Chief General of

o? |
whose army? ‘ |
(A) Maharana Sanga  (B) Maharana Pratap (A) &R i |

0 (c) e A (D) 37 FHrer
(C) Shershah Suri (D) Rao Maldev (€

| 5 o i @ i ¥ PR 6 g,
77 Which of the following facts regarding length of

rivers is incorrect?

(A) Mahi (467 km) (B) Luni (495 km) -

c 12 ) () =aet (1050 for)
(C) Banas (512 km) (©) gt (5 )

(D) Chambal (1050 km)
: e 91 &
78. Who among the following was not a member ?8- et 9 I ISR 3 Ak

of Constitutional Assembly from Rajasthan? o el o7

(A) v. T, Krishnamachari (A) &1 & pETHER]
(B) J.B. Kriplani " (B) Wt gucIi
(€) Hira Lal Shastri E BRIl TRAT

(D) Jai Narayan vyas (D) S1g ARV AT

1304047978, 130404797

78 Maharana Sajjan Singh was given the title of O WErRn W Rig B b o o o
‘Grand Commander of the Star of India’ by TS FHR AP T R G fear & Sl
which Governor General? & oy?

(A) Lord Rippon (B) Lord Hastings % Rus (B) &S 2R
(C) Lord Cornwallis (D) Lord Lytton (€) ¢l BTdiferg (D) STE fores

80. Which one of the following (Cattle Breed - Area 80. ey 4 A BN a1 (Tﬁfr‘ﬂ D AR -
in Rajasthan) is not correctly matched? ?S SISRA # &5 | Tofera et 27
(A) Tharparkar - West (E?E' (A) IRIRGR — e}

(B) Rathi — North West g (B) &Y — I gy

(C) Kankrej — South East g' (C) Figgy — <farofy (Eﬁ

(D) Gir — Middle and South East f:: W Heradf sy afyof) Tﬁ
81.

As per Koppen climatic classification, the ‘Cwg’

31-W$mmﬁ‘cﬁw$mw
ﬁ'ch'mqrgmg‘

climate is found in Rajasthan in -

(A) Arid Region

(A) 3h gy i
(B) South-Eastern Region '(B) M‘Tﬁ yaur §
(C) Hadoti Plateau Region (©) Bredt vary wour
(D) Semi Arid Region Mw T H ¢
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# gt
82. R?Jasthan Is divided into how many Agro- 82. eIl Pl fape ?fﬁ
climatic zones? = w/
(A) 9 o 10
N (®) 10 (A) 9 (D) 15
3( 20 (D) 15 | (©) 20 o R ) fag T
83. Match th? following and select the correct 83. i Wﬁ‘ﬂ'\’ @ﬁql
answer using the codes given below — e o1 T Y o %
Minerals Area @fas gered . A1
(a) Copper (i) Jhamarkotra (a) DI ('_?) W,a—smﬁ
(b) Gypsum (i) Rajpura-Debari (b) foredA ' T
(c) Lead and Zinc (iii) Khoh-Dariba 0 (c) reIRsll (|_") R
(d) Rock Phosphate  (iv) Jamsar B; (d) 3T BRBT (iv) T .y
(A) a-i, b-ii, c-iv, d-iii ~ (B) a-iii, b-iv, c-ii, d-i !;, (A) a-i, brii, c-iv, d-ii (B) a-iii, b-1V, C... ,d !
N - b-i, c-iii, d-ii
(C) a-iii, b-iv, c-i, d-ii (D) a-iv, b-i, c-iii, d-ii %_) m::, c-i, d-ii (D) a-iv, bul, c-iii, |
84. Hydrology and Water Management Institute i% 84. e H EEW qUs
located in Rajasthan at - f;——- FRICIC Faferd & — .
(A) Bikaner (B) Kota W 5 (8) A .
(C) Jodhpur (D) Ganganagar o0 (C) SR 7 (D) TR H
85. At which of the following place the Gomti Sagagi; 85. Tl WR UY Aol Eal e e #
cattle fair is organised? % J e M W BT 87
(A) Jhalrapatan (B) Kota o) (A) FTeRTATEd (B) @reT
(C) Udaipur (D) Bundi = (C) SR ©) 48, _—
86. Which of the following pair is not correctl{;:? 86. fymfiRgd & 4 d=—< W gAfera TRl
matched? 27 '
(A) Rai Singh — Rathod (B) Sanga — Guhil (3.:’ (A) e — Tl’cﬁgl/iB) S TE%HL/
(C) Khetri Singh — (D) Ajayraja —Chauhal%s’«j, L@'@ﬁ g — (D) WIG{\— e
Sisodiya P Rranfear
<t
87. - i inting €2
Rupahli and Sunhari (Gold(.en) printing I‘<T’ Ao Gﬁ'\’ T (W) oo o &
famous in which districts of Rajasthan? (5:)-) et % ufye 2
. ¢ n |
(A) Kishangarh, Chittorgarh and Kota = (A) fherre, Rrlee aik BT
(B) Ajmer, Tonk and Banswara B) TR, S ik TiTarer
) . Q0 %_3? '
(C) Jaipur, Jodhpur and Jaisalmer o | MR iR Srreri
(D) Bundi, Pali and Sirohi E:’ ©) g, ureft aiv Ry
. 88
88. Govardhan Puja/Annakoot Mahotsav 'g gmh T/ Fhe Feveqq
celebrated in - (% (A‘ T STa
(A) Bhadon Krishna Paksha f” (B) wIay PWT gy
(B) Chaitra Krishna Paksha ‘ ) %}3‘ POT Uy
(C) Ashwin Shukla Paksha (o) 1 JdA Uy
RANCIR G

(D) Kartik Shukla paksha

-
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orrect  about  Dang  Area 89. Ty e ey drddH & g T Py M
89. Which is incor! 3 £
Development Programme? ' ) - (
(i) It was begun in 1994-95 in 26 blocks of eight (i) Wa% ?IGBUH 1994-95 9 374 Foi :
districts st | g—é ?ﬁl _ l
(i) Eight districts include Bharatpur, Karauli, (i) 3me forer WER BTl SIERT
Dholpur, Sawai Madhopur, Kota, Baran, AR, BIET, IRT, 41 aif ST oy,
gundi and Jhalawar. 2 "
(iii) 1tis 100% Central Government financed (il}) T& 100% D5 TRBR gIRT @ﬂ*ﬂhw Tz,
programme. 2|
(iv) Its objective is to bring economic and social (iv) 3P Ieew =g oIS ey 5 it
development in dacoit affected areas. IR RS ey AT 3|
Code - T
() (i), (iv) (B) Only (iii) (A) (i), (iv) A/ﬁ(m)
(C) only (i) ©) (i), (iii) (C) daat (i) (B) (i), (i)
90 Which of the following is not a disciple of Dady 9. frfoRad ¥ § @i SIg T S 7 Py
Dayal Ji? BRI
(A) Razzab i (B) Laldas Ji (A) X519 o) (B) Sfreramy <
(C) Garibdas )i (D) Sundar Das Ji (C) Ty E?R’T il
1. Whois recognized as the folk goddess of Alwar N IR aF 9 AFH B w 5 A=
region? | U 2°
(A) Latiyal Mata (B) Jilani Mata (A) aﬁm}w (B) fremofy wram
(C) Sachchiya Mata (D) Sugali Mata C)afEar Arqy (D) grreft #ran
92 Character Puria is a part of - 2. gRem e s v @
(A) Jasma Oden dance drama (A) ST S T AP 57
®) Rammat folk drama E (B) T9q & NICRRED
\ (©) Bhawai dance : (©) 9arg I o
(D) Gavari dance drama By Ty T w7
93 Which of the following is 5 Black Buck 93 fymforReg % o aig BT 20T IR
Sanctuary? 2?2
(A) Ranthambore (B) Kumbhalgarh (A) Yooy (B) dverTs
(€) Tal Chhapar (D) Sajjangarh (C)y<re (D) oG
94. \Which of the following (River — Place of origin) /*»riﬁﬁ P (4 A Iafy ®RIT
s not correctly matched? qHferd
(A) Banas — Khamnor Hills (A) 9911 9wER vgife
(B) Sagi - Jaswantpura Hills (B) sy SRIAIRT gerfsy
(C) Jakham - Chhoti Sadri \"\N]N m.‘q NIES
(D) Som - Babalwara Hills (0) | NIAITST geitsan
130-D V¥
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g5. Which of the following distri .
ricts
‘Bhomat’? - area is called

(A) Barmer, Jalore and (B) Dungarpur

kaar Udaipur and Sirohi
(C) Sikar, Churuand (D) Ajmer, Bikaner and
Barmer Churu
96. The ............. Legislative Assembly Constituency
is reserved for Scheduled Tribe.
(A) Udaipur (B) Bhilwara

(C) Banswara (D) Chittorgarh

97. If the Pénchayati Raj Institution is dissolved
before the expiry of its term, then its election
should be held-

(A) Within six months of dissolution
(B) WitHin one year of dissolution

(C) Anytime ‘

(D) Within three months of dissolution

98. Which one ‘of the following river flows in the

Torawati basin?

(A) Kantli (B) Banganga

(C) Kakni (D) Gambhiri

93. jain pilgrimage site Kesariyajiisin which district
of Rajasthan?

(A) pratapgarh (B) Dungarpur

(C) Banswara (D) Udaipur

100. |, which of the following dance no musical

sed?

(B) Ghoomar Dance

instruments are u

(A) Ger Dance

(C) Chang Dance (D) Valar Dance

17 n ww

95. fymfarRad ¥ o et @1 e

(B)ﬁwﬁwaﬁzﬁm

(C) it 1

(D) e & & AIE @ 3iaY |
98. FymEfRad ¥ ¥ PN AL AR AR

e B &7

ABY-BT=Tell (B) STORIT

(©) Pra= (D) i)

9. S el weret diRa ot R @ fo o
27 -

LY.

100. '

| ﬁwﬁﬁﬁmwﬁ%@ﬁmlvi;w
AT T o w22
“‘:”'ﬁw (B) P e
© = e (D) ToR ey
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